Dopmynsl cnodicenus

sin(x+ y)= sinxX cosy+ cos xX siny
sin(x- y)= sin xX cosy- cos XX sin y
cos(x+ y)= cosxX cosy- sin xX siny
cos(x- ¥)= cos xX cosy+ sin xX sin y

t n

tg(x+ y):M, npu x,y,xt yt —+nn, nl
1-tgxxtgy 2
. Igx-1gy n

te(x- y)= —=—2=-—— npux,y,x-yt—+tnn, nll’
g(x-y) T+ gan 1gy’ PAEVITYES

Memoo écnomozamenvrozo apzymenma

. . ) b
asinxt bcosx=~a’+ b’ xsin(xtg), ¢ = arcsmﬁ
a“+b
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sinxX cos y = Elsm(x- y)+ sin(x+ y)] sin mx X cOS nx = E[sm(m- n)x+ sin(m+ n)x]
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COS XX COS y = E[cos(x- y)+ cos(xt y)] COS mX X COS nx = E[COS(M‘ n)x+ cos(m+ n)x]
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sinx X siny = E[COS(X' y)- cos(x+ y)] sinmx X sinxx = E[cos(m- n)x- cos(m+ n)x]

Dopmynvl 0801IHO20 apzymenma

sin 2x = 2sin xX cos x
cos 2x = cos’x- sin’ x
cos 2x = 2cos’x- 1

cos 2x= 1- 2sin’x
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Dopmynvl mpoitnozo apzymenma

sin3x = 3 sin x - 4sin’ x

cos 3x = 4cos’x- 3cosx
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